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C.

d.

In-class 2.

. Toss a coin 25 times. Score each toss
X = 0 for tail, x=1 for head.

Record your tosses here: 0)1){@) 0,0, 1) )\ ] 0) \ JQ'
. Determine pHAT = #heads/ 25. Note this is xBAR.
= =17
15

Estimate the standard deviation of pHAT by
est of sd of pHAT = root(pHAT (1-pHAT))/root(n)

:'\t W_/ZS ( | - 17./25) . quqq ,
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Use (b)(c) to determine a 93 0// confldence interval

for p = probability a coin turns up heads when tossed.

c.
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If each of 50 people independently prepares a 68% confidence

interval for p, around how many of these intervals will contain p =
0. 5’? Has your interval done so?

f.
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What fraction of your classmates has their CI cover p = 0.5? Is it

close to 68%? Moout 20 stuounts ’[)Uh‘CI/L \Q
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2. Here is a specimen population consisting of two strata.

stratum 1 scores 00 0004 4
- stratum 2 scores 0 0 8 8

a. N1= 8
Ny= Y
Au=17

by = %—-—-]
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d. Proportional sampling of n = 6 requires how many samples {from
each of stratum 1 and stratum respectively?

n= i) - o)
NNEY = G () =%
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e. Suppose a proportionally stratified random sample of n = 6 con-
sists of the numbers 0 0 from stratum 1 and the numbers 0 0 0 8

from stratum 2. 0 004 0 0 fom et

x= 0t010+H4040 g

Lo (o
1= 0r0+0¥M = |
X9 = 6 0 =0
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f. Determine the estimated s.d. of xBAR B
2 N Ni—n; _
' \/Zizm? = [N (B )+ 0)

Sl_n; x? - x9= % ][a/q__;) N
)= 00
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g. In terms of X and (f) determine a 95% confidence interval for u.

How willéts widtal ikely compare with a 95% CI based on a without
replacement sample of n = 6 from the same population?
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THIS NEXT PART IS NOT AN EXERCISE.
Example of how to randomly sample without replacement. Pick
a starting block in the table of random digits. For example, start in
block 31. The digits in block row 31 and column 1 are: 24130.

‘ Rk
I WILL SELECT 2 FROM STRATUM 2 FIRST, THEN
SELECT 4 FROM STRATUM 1.
If we adopt the convention of using the first distinct (unequal) ran-
dom digits from 1 to 4 we encounter to select two of the 4 numbers 0
0 8 8 from stratum 2 (without replacement) these randomly selected
scores from stratum 2 would be 0 8 0 8 since these are in the 2nd
and 4th positions of 0 0 8 8.

ES S

Any random digit not equal to 1, 2, 3, or 4 would be skipped. Any
repeated random digits would be skipped because we want samples
without replacement.

Having otained a sample of ny = 2 from stratum 2 we then proceed to
do the same with stratum 1 in order to obtain a sample of nj=4. We

begin afresh with the subsequent random digits from the table:
130 48360..

¥ %k * %k

Using them to likewise select four from stratum 2 scores
000000414

* * %k &

That is, stratum 1 score 0 is 1st, 0 is 3rd, skip digit 0, 0 is 4th, 4 is

8th. So our four without replacement random samples from stratum
lare 0,0, 0, 4.
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